R13

Note: This question paper contains two parts A and B.

l.a)
b)
c)

the.necessary al gorrthm

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
18 marks and may-*have ayb, ¢ as sub questrons s o ;

oo / L P ART A

(25 Marks)
What are the two parts of a compilation? Explain briefly. [2]
Define a context free grammar. [3]
Lrst the propertles Of LR parser. [2].
-, [3]
(2]
[3]
List the terminologies used in basic blocks. 2]
What is a flow graph? [3]
Mention the properties that a code generator should possess. [2]
[3]

What is a DAG‘7 Mentron 1ts apphcatlons

(50 Marks)"

Explain in detail about the role of Lexical analyzer with the possible error Recovery

actions. [10]
OR

Gonstruct Predictive parsing table for the followmg grammar

'S> Ly’ oo et fon
L>1L, S/S and check whether the (a, a) belong to that grammar or not. [10]
Give the LALR parsing table for the grammar. [10]

L->*R/id R->L
OR

S->L=R/R

How would you generate the mtermedlate code for the flow of control statements‘7

Explain with examples. [10]
OR
Explain how the types and relative addresses of declared names are computed and how

scope 1nformat10n Is dealt wrth

oy




[10]

[10]




